BEMHHEE
I 7& it E HE|ENM M=
IR 3.25+107+3.35+4.0+4.0+13.20+5.65+8.40+8.90|  157.75 m
T RAI7 IV EKERLD 5> 157.75 % 0.284/100 0.448 m3
AL R EEGEEO-EEAEEQ | 91278 m2 900.39+12.391
AsTRE 912.78X0.12 109.53 m3
0.0
PRYE 900.39 X 0.25 225.10 m3
TEbEWRAL Sy 900.39 X 0.25 225.10 m3
LR EEFAHEZED 900.39 m2
-9 EEGAEEO-EEFEEQ | 91278 m2 900.39+12.391
RIE EEGEEO-EEAEEQ| 91278 m2 900.39+12.391
X & #R (3248 15cm) A EEDLELY 43.35 m
X E#R (R R 150m) A EEDLELY 20.0 m
X E R (9 E#R45cm) AR EEDELY 480 m




m #E i E ED SRR KRR B
S 5 37 = - *gliﬁﬁ% *gliﬁﬁﬁﬁ% SEVEK e
@me%ﬁ EE%E S E S E Ilzjj}fé 1/@ ”%
NO. 0 2.90
20.00 2.90 58.00
NO. 1 2.90
20.00 2.90 58.00
NO. 2 2.90
20.00 2.88 57.60
No. 3 2.85
13.00 2.93 38.09
NO. 3+13. 00 3.00 1 SF6FEEICERL-EmOHA
0.00 4.50 0.00
NO. 3+13. 00 6.00
7.00 6.00 42.00
NO. 4 6.00
20.00 6.10 122.00
NO.5 6.20
20.00 6.35 127.00
No. 6 6.50
20.00 6.40 128. 00
NO. 7 6.30
8. 60 6.35 54. 61
No. 7+8. 60 6.40
11.40 6.85 78.09
No. 8 7.30
20.00 6.85 137.00
No.9 6. 40
&5t 180. 00 900. 39




Y

HEE Q

@
2.45
3120
A\00 4,00
3.10
L 245
b c S s (A)

(D 3.100 1.500 3.250 3.925 2.302
Q) 3.000 3.350 1.500 3.925 2.250
3 4,000 2.450 3.200 4.825 3.920

4 4,000 3.200 2.450 4.825 3.920
&5t 12.391
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XEETESR

B (15cm)
A1 HE HE B
BARMAXER (BEH
B (15cm) 30+13. 35 43. 35 m
&&t (B) 43.35 m
B (15cm)
A1 HE = ==Xiv2
B (15cm) BARMAXER (BEE
4K X 5m 200 m
it (BA) 20 m
B (45cm)
A1 HE = ==Xiv2
B (45cm) ARAXER (BEH
(W=0.45 L=3) x2XK (B1t#) 48 m
(W=0.45 L=3) x14K (FEMrHE)
it (BA) 48 m




EXBREE

Ti&E BIE H4YETE i (B)

WA  p2655H

WET |HERUER 157.75 m / 203 m/H 0.78
WEIRE  p264BH

SRR 912.78 m2 / 260 m/H 3.51
WA  pl66SHR

iR 22510 m3 / 220 m/H 1.02
WA p2505H

L ERR AR 900.39 m2 / 940 m/H 0.96
WA p2505HB

L ERR AR 900.39 m2 / 940 m/H 0.96
WEE  p251BH

= 912.78 m2 / 1300 m/H 0.70
WEIE  p251BH

=B 912.78 m2 / 1300 m/H 0.70

INEE 8.63
SEEAHE pl0SR

XEET |sotxEs GEgw=15m 4335 m / 750 m/H 0.06
SEEAHE pl0SE

ARXRES EEW=15cm 20.00 m / 750 m/H 0.03
SEEAHE pl0SE

HRARES EEEW=45m 48.00 m / 425 m/H 0.11

INEE 0.20

&t 8.83

Ead) 9.0

9.00 A x 3 A/H = 270 A




